= AH O
N = 0 &8 AF S & Al A
201MEE 204 dESIH SSMSY ~ 2SS
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2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
235t s 17,568,937 15,435,599 2,133,338
= 98,955
z 3,561,000
p) 131,358
= 91,049
< 1,833,439
Al 11,853,136
23lils XE 5,240,920 3,510,972 1,729,948
= 48,955
= 1,000,000
Dl 19,000
= 91,049
< 65,000
Al 4,016,916
23i0s 84 4,598,920 2,833,562 1,765,358
= 48,955
= 1,000,000
= 91,049
< 13,500
Al 3,445,416
25l0ls EE L Alg2E 54,000 637,180 583, 180
201 Lt AH| 9,000 21,180 A 12,180
01 AFR22(H] 6,200 16,500 10,300
(w] Bt~ FH| 2,700,000 2,700
COSRE= 3,500,000 3,500
02 2224gH4| 2,800 4,680 A 1,880
m2222 2 HA 1,500,000& 1,500
WAl & &HI KX 1,300,000 1,300
203 HRF=XH| 2,000 2,000 0
03 AIHFRHRF=ZEY| 2,000 2,000 0
WES=HA =& 2,000,000 2,000
301 Yutg A= 3,000 3,000 0
10 SALAIHI B A Z 3,000 3,000 0
W2AE WA AH2Y FH0I A 24
3,000,000 3,000
401 Al&HIZL 20 40,000 600,000 560,000
01 Al&HI 40,000 600,000 560,000
WE2SIAE AR HES 40,000,000 40,000
Satol==d X 231,244 204,744 26,500
= 43,202
Al 188,042
201 dEt23 | 2,000 0 2,000
01 AF222|H] 2,000 0 2,000
DEEE] 2,000,000 2,000
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202 O 3,000 3,000 0
01 =LHAOYI 3,000 3,000 0
mAtE Z2tol=HA X 3,000,000& 3,000
307 G12+0lH 226,244 201,744 24,500
= 43,202
Al 183,042
02 22tFda2x 210,744 113,744 97,000
mX L2 AIY 23] 73,000,000& 73,000
= 36,702
Al 36,298
m=23stn 28 N 7,000,000& 7,000
= 4,700
Al 2,300
mEnI2H TH S A 3,000,000& 3,000
= 1,800
Al 1,200
WMAIZSESQEES| (AL AL) X
7,000,000& 7,000
mH=2sd 28 N 23,000, 000& 23,000
mS=2WEAMKXE 28 X2 23,000,000 23,000
mZHNOE S0l USEES XS
7,000,000 7,000
mHSXNE AIRA RS X 6,744,000 6,744
mA=HF K& 5,000, 000& 5,000
EAHMAIGEEEHS &5 2 X
8,000,000& 8,000
medz2=E3 K& 3,000,000& 3,000
mAHNEW 23 K& 5,000, 000& 5,000
EAKSA MAHE AFR AL Z0tEH 21 S&
2E 232 ME X 40,000,000& 40,000
03 MlBIEHMEX= 15,500 88,000 A72,500
mMEFSEUMN S A XS 5,000,000& 5,000
WRSAHE2HRE) HsSg AL X2
2,000,000& 2,000
mHEALAEIES A& JLY2AHE XNF 2,000,000 2,000
mEANLNEY Sed 2229 2 Azl X&
1,500,000& 1,500
mE= AIZEEUHI XS 5,000, 000& 5,000
ZotAL EHIS K& 10,000 10,000 0
< 5,000
Al 5,000
307 2120l & 10,000 10,000 0
< 5,000
Al 5,000
02 2lt3aEx 10,000 10,000 0
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w233 S3HAF X 3,000,000& 3,000
& 1,500
Al 1,500
mSFEAIS EAHHl XIS 7,000,000& 7,000
== 3,500
Al 3,500
SN 22X 259,910 380,000 A 120,090
= 45,455
= 47,847
Al 166,608
307 2I12tolA 49,000 40,000 9,000
= 18,881
Al 30,119
02 QI2tABAB T 49,000 40,000 9,000
WA A2 EHFLH X3 49,000,000 49,000
= 18,881
Al 30,119
308 XXIEXHSOIE 50,000 50,000 0
s 10,000
Al 40,000
06 RFI|Z2HUSEES 50,000 50,000 0
WUSXAE A THE SBAHARLH XS
50,000,000& 50,000
2 10,000
Al 40,000
402 QUIZ2tX201M 90,910 0 90,910
= 45,455
Al 45,455
01 SI2t X2 X 90,910 0 90,910
mESETAH2 ZHEAMD 90,910,000& 90,910
= 45,455
Al 45,455
403 KXIEMS K201 70,000 70,000 0
= 18,966
Al 51,034
02 BI|2SOICHSHH & A HI 70,000 70,000 0
WS SAGE T2 FMF2H X
70,000,000 70,000
= 18,966
Al 51,034
SAEIEAY 10,000 0 10,000
= 5,000
Al 5,000
308 XXl EHHI S 0| & 4,000 0 4,000
& 2,000
Al 2,000
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06 1 S7|2H0j Ch &t 4,000 0 4,000
W=AEHEAY 4,000,0002 4,000
= 2,000
Al 2,000
403 XHXI RIS K 6,000 0 6,000
= 3,000
Al 3,000
02 ZII2S0IHs 6,000 0 6,000
MEAELEAY 6,000,000% 6,000
= 3,000
Al 3,000
HEAANSMUIANELNRSASLHES 5,000 0 5,000
= 3,500
Al 1,500
307 ©I2t0l M 5,000 0 5,000
= 3,500
Al 1,500
02 SINHFARE 5,000 0 5,000
MOSST208 XA 5,000,000 5,000
= 3,500
Al 1,500
TTEND A 2,400,000 0 2,400,000
= 1,000,000
Al 1,400,000
401 AlEHIL 2O 2,000,000 0 2,000,000
= 1,000,000
Al 1,000,000
01 A&l 1,993,000 0 1,993,000
AT A B 1,993,000, 0002 1,993,000
= 1,000,000
Al 993,000
03 Al& =0t 7,000 0 7,000
WAl & S CHH 7,000,000 7,000
405 XtokE S| 400,000 0 400,000
01 AU SEFSH 300,000 0 300,000
WEYCAB 2B RY 300,000,000 300,000
02 AR 100,000 0 100,000
MEBEND TN PY 100,000, 0002 100,000
HHMA 2B EHE X 1,503,766 1,596,638 12,872
306 £012 1,503,766 1,596,638 12,872
01 £012 1,503,766 1,596,638 N2,872
W HASSEME NS 1,593,766,0008 1,593,766
ROt 23tEs 5,000 5,000 0
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M- BB Sl (B) - HIRAY - Ba S sk oy e 2
< 3,500
Al 1,500
307 QI2t0IA 5,000 5,000 0
= 3,500
Al 1,500
02 2ItBAE X 5,000 5,000 0
mIOt=E 2atEs 5,000, 000& 5,000
= 3,500
Al 1,500
FZsttls &0t &4 30,000 0 30,000
401 AM&HIYL 2048 30,000 0 30,000
01 Al&H| 30,000 0 30,000
m=2sttls 02 EtSE At
g9 30,000,000& 30,000
Z3t0l= =H 642,000 677,410 235,410
| 19,000
= 51,500
Al 571,500
Zot0l= HAL XA 204,000 235,000 231,000
307 212t01& 204,000 235,000 231,000
04 QIHHALE X 204,000 235,000 A 31,000
mH=HH H18=s & EEIIE3
3,500,000& 3,500
mX82l HM &=AHE 7,000,000& 7,000
W= AE AR THE S AL 3,500,000& 3,500
WNEHEMY 8 3,000, 000& 3,000
W& 22 Z0E 3,000,000& 3,000
w28 2t MOILE &AL 3,000,000& 3,000
mAN2S M3y 22 & Jg s
3,000, 000& 3,000
mZEH=H &t 5,000,000& 5,000
mX43] HHM S 5,000,000& 5,000
mAKA A& 40,000,000& 40,000
WHHMA AEAEHE 12,000,000& 12,000
mEA2aE S2d 2,000,000& 2,000
mATA A8 29
10,000, 000& 10,000
mA4s HOF2SH 40,000,000& 40,000
EMHMHE & Had
20,000, 000& 20,000
WK &eH2Rs0l F 7,000,000& 7,000
o U= WA SL3 5,000, 000& 5,000
mEY sSHMEE EENS 34 2,000,000& 2,000
mHEH €014 o9& =84 2,000,000& 2,000
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mIEREN &t 3,000,000& 3,000
WARD2 SSUSSEAF XS 25,000,000& 25,000
HH M= H 80,000 80,000 0
307 2I2t0| ™ 80,000 80,000 0
04 DI2tHAIE T 80,000 80,000 0
m Xl 183 HXM W =X 80,000,000 80,000
HA28H0 = 30,000 30,000 0
307 Qlz2tol A 30,000 30,000 0
04 QI2tHAIE T 30,000 30,000 0
mA&ASSHN 30,000,000 30,000
d=C2 23 0= 80,000 60,000 20,000
== 30,000
Al 50,000
307 2I2t0|™ 80,000 60,000 20,000
o= 30,000
Al 50,000
04 QItSHALIE X 80,000 60,000 20,000
WAH8SE HH MIFHZIAUS 80,000,000& 80,000
& 30,000
Al 50,000
SEZHEIIEMA 200,000 222,000 A22,000
& 5,000
Al 195,000
307 2I2t0|™ 200,000 200,000 0
== 5,000
Al 195,000
04 QIISHALIE X 200,000 200,000 0
W AH49s] SLEUHEIIEHE SHA
200,000,000 200,000
= 5,000
Al 195,000
SPUHSHAXE HEXNA 38,000 35,500 2,500
J| 19,000
= 9,500
Al 9,500
307 2I2t0|™ 38,000 35,500 2,500
J| 19,000
T 9,500
Al 9,500
02 QB AE X 38,000 35,500 2,500
WU SHEE HE N 38,000,000 38,000
| 19,000
& 9,500
Al 9,500




SN 2SS
I 250ls A
o9l 2sis =X (29l &
_ _ SIEN
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ol AF o8 Blusz
2OPtE OlzES 10,000 14,910 ~4,910
= 7,000
Al 3,000
307 Q10| H 0,000 14,910 ~4,910
= 7,000
Al 3,000
02 pIHEAEZE 10,000 0 10,000
WEOPIE HEES 10,000, 0002 10,000
= 7,000
Al 3,000
HEEE 2,201,802 2,234,016 £32,124
| 102,176
= 40,545
Al 2,059,171
HEEE 680,076 651,076 29,000
MEEH K2 112,076 113,076 A1,000
202 04t 1,000 2,000 A1,000
01 =2U0itl 1,000 2,000 A1,000
WS MKW X 1,000,0002 1,000
307 21201 H 111,076 111,076 0
02 pIHHAEZE 111,076 111,076 0
WHSS (AP2H 2A)A A XD
87,076,000% 87,076
EASRR 22 X & 8.000,0002! 8.000
EASH(SEESE) LUE X
16,000, 0002 16,000
HMS AL 282,000 277,000 5.000
201 LBt ) 50,000 0 50,000
03 A2 | 50,000 0 50,000
WAEEDS EBI|E MSBA 50,000,008 50,000
307 2I2H0|H 212,000 227,000 15,000
04 BIZFEAIE Z 212,000 227,000 15,000
mY2 2= 40,000, 0002 40,000
WHHAIZD ®=2 ASAHTCE 30,000,008 30,000
WHSE S DA 35,000, 0002 35,000
WA B A 7,000,0002 7,000
WHAHMAIZH 2 24 £.5.0 SRAE=)
2 60,000, 0002 60,000
WOFRAESR| D) 10,000, 0002 10,000
EHMAl . Z84 HKMS 30,000,008 30,000
401 Al&H| 2= 0| 20,000 50,000 30,000
04 BARRIRIAI & H] 20,000 50,000 £30,000




SH: 2SS
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SM-EH . C(BH) - HRAY - B2 Ao Sl ko HRs2
CEEREE =2 20X S) A
xt 20,000,002 20,000
talsd X& 286,000 261,000 25,000
301 et ag 3,000 3,000 0
10 HALAHIZ &3 3,000 3,000 0
mE ol 4 ARTNERN
3,000, 000& 3,000
307 I12t0lH 283,000 258,000 25,000
02 QIAANBE 40,000 10,000 30,000
Wesdas S8 N(SH Ol 32)
10,000,000& 10,000
WEY sz 30,000, 0002 30,000
04 QIFHAIE X 243,000 248,000 25,000
W RI502 ECIAM=CHE 240,000,000& 240,000
mEd &0t U2 3,000,000& 3,000
BH=s=s4 784,406 822,438 238,032
| 102,176
& 40,545
Al 641,685
MESs M X2 133,464 103,464 30,000
307 S12t01& 103,464 103,464 0
02 QIAALBE 103, 464 103, 464 0
mMEH =3 2l 73,664,000& 73,664
AR = 24 20,000, 000& 20,000
WMEHSANECN I 2 1,800,000& 1,800
AR A AdUE K& 8,000,000& 8,000
402 2I2H X201 30,000 0 30,000
01 SIZAGEEX 30,000 0 30,000
WAEHSS M2 2 ¥ 30,000,008 30,000
MeE H=sle =& 131,000 130,000 1,000
307 GI12+0I & 131,000 130,000 1,000
04 QIHHAIE X 131,000 130,000 1,000
W28 ZaY &
80,000, 000& 80,000
WE 01 A 20,000,002 20,000
m2E Fojel 11,000,000& 11,000
mEsy AHdLF 20,000,000& 20,000
MEHZHE N 233,000 203,000 30,000
= 5,000
Al 228,000
307 QI2t0I A 233,000 203,000 30,000
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M HSUE
Sl MENSSH (e @
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
< 5,000
Al 228,000
VR EES 5,000 5,000 0
WAZ MEHSHE K 5,000, 0002 5,000
= 5,000
04 BIASAIS 228,000 198,000 30,000
WH 125 HHAIMEHSHE 20,000,000 20,000
WAEHSE 52 HAHMSHAH(29ES)
40,000,000 40,000
WHR(AZZDAZZIIE) 0203 1L
100,000, 0002 100,000
WHIEE BALET 024 MEHSHS
20,000, 0002 20,000
WRI43 HHAIZI Z HOIESHS
10,000,00024 10,000
WR53 HHMAIZH H2 DeteS 2L 3
10,000,000 10,000
WAEHE M= =40 3,000, 0002 3,000
WAIES HHAIZI| BHAAT =S
5,000, 0002 5,000
WH6S HMAI HEA L= 2eldl (3l
10,000,000 10,000
WH105] MEELA HSSRH M2 S50
HilLI A CH 3l 10,000,000%! 10,000
MEHSHASAS 29 2,000 2,000 0
= 1,000
Al 1,000
307 QI2H0|H 2,000 2,000 0
= 1,000
Al 1,000
02 PIABAEE 2,000 2,000 0
WAEHE NREAS 2Y 2,000,00024 2,000
= 1,000
Al 1,000
204 1 X S S0t AbeS 31,990 15,000 16,990
= 15,995
Al 15,995
307 Q20| H 31,990 15,000 16,990
= 15,995
Al 15,995
EEIENEES 31,990 15,000 16,990
WA HMSSOo2 2 (7H4)
31,990,0002 31,990
= 15,995
Al 15,995
MEHSDA 26,460 29,400 A2,940
= 7,908




24 2K
M M=
el MBS A (EEREED
_ _ _ N E
SA - HH . CA(BH) - HREAY - BY2 Of) & o Gl o HmE2
A 18,562
307 212+0| 26,460 29,400 A2,940
= 7,908
Al 18,552
02 PABABE 26,460 29,400 A2,940
MAERSDY 2% 26,460,000 26,460
= 7,908
Al 18,552
MBI UK 22,140 24,600 A2,460
= 6,642
Al 15,498
307 212+0| 22,140 24,600 A2,460
= 6,642
Al 15,498
02 DIZHAASE 22,140 24,600 A2,460
EASHSZIR Y 2 22,140,000 22,140
= 6,642
Al 15,498
MR TS 41,856 41,160 69
| 20,928
Al 20,928
307 212+0| 41,856 41,160 69
| 20,928
Al 20,928
02 DABABE 41,856 41,160 69
mMOI2A ME MBS I
41,856,0002 41,856
p 20,928
Al 20,928
HMUR MEHSXNEK X 146,496 144,060 2,436
I 73,248
Al 73,248
307 212+0| 146,496 144,060 2,436
I 73,248
Al 73,248
02 PABAEE 146,496 144,060 2,436
ALK MEHSKCK HIX AL
146,496,0002 146,496
| 73,248
Al 73,248
S H AL 16,000 16,200 A 200
p 8,000
= 4,000
Al 4,000
307 212+0| 16,000 16,200 A200
I 8,000




SN 2SS
By HSHE
ol MEBHSSY (Erol: @2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 B HRs2
O Ak 4
= 4,000
Al 4,000
05 CIZtRAEZ 16,000 16,200 A 200
CREXES PSS 16,000,002 16,000
] 8,000
= 4,000
Al 4,000
XA 2SR 737,410 760,502 £23,092
REY 29 737,410 760,502 223,092
201 Let2d| 14,000 15,500 A 1,500
02 323l 14,000 15,500 21,500
MR 2 AMA 4,000,000& 4,000
WAl ZHI KXl 10,000, 000& 10,000
301 EtEN = 693,410 686,502 6,908
M=t - 2SRSEds 690,410 683,502 6,908
WAE QE&S 20 339,375
o1X (623155 JI&E) 58,478
OJlZ2= 2,595,300& x1E»12& 31,144
&0 2 (300%) 31,143,600& *3/12 7,786
OZX=¢ 300,000 x1H«12& 3,600
SELES= 300, 00021 12§ ¥122 3,600
OBIESS= 960
WL:[EPN; 40,000 x1H «12& 480
CIJIEHOHS 20,0003 x2H 123 480
Oza 2=l 200,000 x1H«12& 2,400
Ou sl 100,000 x1E »12& 1,200
OBSEIHHI(80%)  31,143,6002+0.8/12 2,077
OJAXI2BI(120%)  31,143,000&%1.2/12 3,115
O2 &= (100%) 31,143,600& *1/12 2,596
Od=x(732558 JI&E) 280,897
OJl2s 2,223,100& «6H »12& 160,064
O4&H04 = (300%) 160,063,200 *3/12 40,016
SELES= 200, 0002 +62 122 14,400
OJE=g 4,800
W]:[EPN; 40,0003 x6E «12& 2,880
CIDJIEDHS 20,0003 x8H «12& 1,920
OF=EapEN ] 200,000 x6H 12 14,400
OmEH| 100, 00021 x6 % * 122 7,200
OEEHIIHI(80%) 160,063,200 +0.8/12 10,671
Ot AXI 28I (120%)  160,063,200& %1.2/12 16,007
O=2==<H(100%) 160,063,2002 *1/12 13,339
mOEotetS 300,000& x7H«12& 25,200
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fAH: 23H
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SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

W2 EAs =Y 300,000& 2% «12& 7,200
mxSsHdr =G 1,000,000& x2F 123 24,000
WNREE AHEE= 47 174
OMMEEZ 395,770,200 *3.458/100 13,686
onNEEEZ 395,770,200&*1.3/100 5,146
OoAdEE= 395,770,200 *2.661/100 10,532
0=0dz= 395,770,200& *4.5/100 17,810
mEXNNEF 395,770,200& *1/12 32,981
mREY JHeIEH 2 14,980
oOwLIZ3 300,000 »7H +x2H 4,200
OXKE 700,000 »7H 2 9,800
(OF S 70,0003 x7H+2& df| 980
mMREE Halsd Y =&l 199,500
otz =&l 650,000 *103] 8 52,000
O=dt| 650,000& 10| x 15 97,500
OdA=sHES(30Y) 50,000,000& 50,000

12 JIEtE2 43 3,000 3,000 0

X SHAL S8 L AT Fo =4

3,000,000& 3,000

405 KH&HFSHI 30,000 58,500 A28,500

01 AHaLEBHSHI 30,000 58,500 A 28,500
WAIEREE HHl FL 30,000
O=MRS: Xa 15,500,000& 15,500
O=H ZHl16= 3,400,000 3,400
O=H 470= 5,100,000& 5,100
O=H dold= 3,900, 000& 3,900
©ctol = Xt3h 300,000& »7& 2,100

MEAE &= 8,410,441 7,510,067 900,374
= 2,561,000
& 1,430,000
Al 4,419,441

MEHSANE T4 3,880,000 2,025,000 1,855,000
& 1,500,000
& 630,000
Al 1,750,000

AMEHULAE X4 3,600,000 0 3,600,000
= 1,500,000
& 600,000
Al 1,500,000

401 A &HIL 2048 3,600,000 0 3,600,000
& 1,500,000
& 600,000
Al 1,500,000




M Z3M=sH
A HSAL 25
Rl dEHMSAE &4 (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
01 Al&H| 3,593,000 0 3,593,000
mAIEHUAE HE 3,593,000,000& 3,593,000
= 1,497,060
S 598,880
Al 1,497,060
03 A2 204bl 7,000 0 7,000
m Al &2 0HHI 7,000,000& 7,000
= 2,940
S 1,120
Al 2,940
HEZR ==& 28 200,000 0 200,000
401 Al HI YL SO 200,000 0 200,000
01 Al&HI 200,000 0 200,000
CIPNE=1:] 200,000,000& 200,000
HH =0tE HE 50,000 0 50,000
401 Al&HI YR OHYI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
mHA s0HE AE B84 ZA 89
50,000, 000& 50,000
MHEXE X SHLAS 30,000 0 30,000
= 30,000
401 Al&HIZL=RCHYI 30,000 0 30,000
S 30,000
01 Al&HI 30,000 0 30,000
m&ES HOIESE FHI 30,000,000 30,000
S 30,000
HE3& =4 3,145,000 3,100,000 45,000
= 1,061,000
< 800,000
Al 1,284,000
HMAZE=TE =4 2,000,000 3,100,000 21,100,000
= 751,000
S 500,000
Al 749,000
401 AIEHIZ 208 2,000,000 3,100,000 21,100,000
& 751,000
= 500,000
Al 749,000
01 Al£Hl 1,995,000 3,093,000 21,098,000
WAMAZ=0MZE &4 1,995,000,000& 1,995,000
= 749,100
= 498,750
Al 747,150
03 Al R04Hl 5,000 7,000 22,000




M Z3M=sH

HE: HSAL 25
ool MSZE E4 (el:@g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
CREETT 5,000, 0002 5,000
z 1,900
= 1,250
Al 1,850
SCOISMETZRE T4 1,085,000 0 1,085,000
3 310,000
= 300,000
Al 475,000
401 AEHIYLS0] 1,085,000 0 1,085,000
3 310,000
= 300,000
Al 475,000
01 Al&H] 1,082,000 0 1,082,000
MESIIEMBHIDY X4 1,082,000,0008 1,082,000
3 309, 160
= 299,190
Al 473,650
03 Al& S CHY] 3,000 0 3,000
CNEESTH 3,000,00024 3,000
3 840
= 810
Al 1,350
NMARZDE & 60,000 0 60,000
401 AEHIYLS 0] 60,000 0 60,000
01 Al&H| 60,000 0 60,000
MHRMAZEDE S8 BYETA 8
60,000,0002 60,000
BRI x& 650,000 51,150 598,850
St AZAIA 650,000 51,150 598,850
308 XXl IS Ol & 650,000 51,150 598,850
06 RSN EE2 650,000 51,150 598,850
mESESD ST A 400,000,0002 400,000
WHAESD 2SR AXTC X4
250,000,00024 250,000
HMEAE 22l 735,441 2,333,917 A1,598,476
ZZASAIL 70,000 1,060,000 990,000
401 AEHIL S0 40,000 1,060,000 A1,020,000
01 Al&d| 40,000 1,060,000 A1,020,000
WMOIES AXSBY 2SI L ZAS &3
40,000, 0002 40,000
405 Xtk SH| 30,000 0 30,000
01 RAUSEZ S| 30,000 0 30,000
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A
I‘IiH:
C}—Ol:

S M=
HSAL =
HsAd 2

i)

& of

=

_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 i HlnE2
EMHHN=CXHSLHH MFELY HS 2
30,000,000& 30,000
SUMSAE RANE= 197,700 338,640 A 140,940
201 et 2,700 2,640 60
02 25234l 2,700 2,640 60
mI22a 2 HA 2,700,000& 2,700
401 Al&HI LS04I 195,000 336,000 A 141,000
01 Al&H| 195,000 336,000 A 141,000
mSUXSAE 258 B 30,000, 000& 30,000
=S4 sUIMSAIE &X 15,000,000& 15,000
meE2H A3 M3 Fl 15,000,000& 15,000
msSSH IO SUIMSAIE &X
15,000,000& 15,000
mySE 472 HOESHE AXECO £
30,000,000& 30,000
mAISE ZE&E SUMSAE &X
15,000,000& 15,000
mHAXH AN SUMSAIE ZHI
15,000,000& 15,000
motEE SUMSAIE £X 15,000,000& 15,000
mE=2H RS SUMSAIE £
15,000,000& 15,000
MESEE HUTR MSZE ALS Hy|
10,000, 000& 10,000
mEES DOIROIIE 212 MSAE &X
20,000,000& 20,000
HEAE RIEx 180,180 736,812 A556,632
201 Let2IH| 6,180 2,812 3,368
01 AtE22/H] 180 172 8
met=Z | 180, 000& 180
02 2323l 6,000 2,640 3,360
mI223 2 HA 6,000, 000& 6,000
206 M=l 4,000 2,000 2,000
01 Mz bl 4,000 2,000 2,000
mot™EOF& HM=H & LHOFOIALE 0K 4,000
ON=HM & EHIIES 2,000,000& 2,000
OLHOF OtALE 10,000& 2002 2,000
401 A &HIL 204 170,000 732,000 A 562,000
01 Al&HI 170,000 732,000 A562,000
mStEOI7E SHEXZSE Ald FHI 30,000
OclE0FFaA, FHA2S, HH=2FHl S
SO,OOO,OOO°4 30,000
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M Z3M=sH

Nu YRAL 25
&2 MEAE 22 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
EXSAE =52 20,000,000& 20,000
EAMANSE2 SaHS 2 XS &=
30,000,000& 30,000
WESZ2SE OFUZTAIE ZUIZSA
90,000,000& 90,000
SO 2 287,561 138,465 149,096
101 Q14| 17,561 17,825 A 264
04 JIZHMIZ2XEE =+ 17,561 17,825 A264
moHE MO E 22 17,561
0o 35,0003 »2H +60L «33] 12,600
O = 35,0003 x2H 122 %33 2,520
O X=m=5II=E 35,0003 x2H x2 4 x33] 420
o4l R EE 15,540,000 *13% 2,021
201 et 5,000 5,040 A40
02 3234l 5,000 5,040 A 40
mI=22a 2 HA 5,000, 000& 5,000
206 M=l 15,000 15,600 A 600
01 M=H| 15,000 15,600 A 600
molE2SE 8 MO8 s € AUl S
15,000, 000& 15,000
401 A &HIZL 2048 250,000 100,000 150,000
01 Al&H| 250,000 100,000 150,000
WSHSST 2 HHMAERND HORC 22
29 250,000,000& 14! 250,000
FaARMAS 1,148,054 1,309,524 A 161,470
= 50,000
| 10,182
& 297,894
Al 789,978
3 2tel 1,108,054 1,267,524 A 159,470
= 50,000
Il 10,182
= 297,894
Al 749,978
=t NE =23 E= 100,000 277,000 A 177,000
= 50,000
& 17,500
Al 32,500
401 A EHIL 204 100,000 277,000 A177,000
= 50,000
= 17,500
Al 32,500
01 Al&H| 100,000 276,000 A 176,000
mats MASIHE o E 100,000, 000& 100,000




SA: 2SS
Ha: 2SRHS
col: 251 e (Etel: &8
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
= 50,000
= 17,500
Al 32,500
E NBBAM 24 400,000 352,000 48,000
= 270,000
Al 130,000
401 AlEHIL 2O 400,000 352,000 48,000
= 270,000
Al 130,000
01 Al&Hl 399,000 350,000 49,000
WEXHSEHY 24 399,000,000 399,000
= 270,000
Al 129,000
03 Al& 2O 1,000 2,000 £1,000
W A& = CHHI 1,000,000% 1,000
NEE-O 127,084 102,554 24,530
101 @I 24H| 14,044 12,994 1,050
04 JIZAH2ENSE S 14,044 12,994 1,050
WSS T2 LM 14,044
ORI 35,0002 +52 35| +257H 13,125
ONg ML H 13,125,000 7% 919
201 Lete gyl 22,040 22,560 AB520
01 At el 17,240 17,640 400
OEIETE= 8,000,000% 8,000
DE=R= 9,240,000% 9,240
02 222l 4,800 4,920 A120
WEZ22 2 MAl 80,0002 *5JH 4 122 4,800
202 01t 1,000 0 1,000
01 =UH0iHI 1,000 0 1,000
WESHYHAE(XF BY) YRFA
50,0008 +203! 1,000
401 AlEHIL 2O 90,000 65,000 25,000
01 A& 90,000 65,000 25,000
WSS QLB W 30,000,000 30,000
mEsty 2AZe 4 30,000,000 30,000
WARSD AR W 30,000,000 30,000
HIXIE 235t 450,000 500,000 50,000
401 Al HIL 2O 450,000 500,000 50,000
01 A& 448,000 500,000 52,000
WERNE =AY 448,000, 0002 448,000
03 Al&S2CHHI 2,000 0 2,000
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SN 23HSD
dH: ZIRMHS
el 23 22l (&te @2
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES Ol AFoH oﬁf@ Hl =2
m Al & 2 OHHI 2,000,0002 2,000
23 sSg2eld XN 16,970 16,970 0
pJ 10, 182
[= 3,394
Al 3,394
101 Q124 14,760 14,760 0
pJ 8,856
[= 2,952
Al 2,952
04 JIHZ2Z2NEES 14,760 14,760 0
WO MIE 20 22| (4 SEBS LS
14,760,000 14,760
pJ 8,856
[= 2,952
Al 2,952
202 O4H] 2,210 2,210 0
pJ 1,326
[= 442
Al 442
01 2o 2,210 2,210 0
mHAE 20t 22| YR=X 2,210,000& 2,210
pJ 1,326
[ 442
Al 442
HERIQSMA BZE L =22 14,000 19,000 A5,000
[= 7,000
Al 7,000
307 QIzto|A 14,000 19,000 25,000
[= 7,000
Al 7,000
02 SIHAAEXR 14,000 19,000 25,000
matn 8S23 HZSAY XY 10,000,000 10,000
[= 5,000
Al 5,000
mEswa X 4,000,000 4,000
[= 2,000
Al 2,000
BE2 1 40,000 42,000 A2,000
g 1 40,000 42,000 A2,000
307 QIZto|A 40,000 42,000 A2,000
02 SItAABER 40,000 42,000 A2,000
mHHOIsSER 2 X2 10,000,000 10,000
moiS2H OS2 29 X 10,000,000 10,000
mHAES2 29 X 20,000,000 20,000
HMSAHH (R HS ) 67,630 71,020 23,390
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PN 23MSH
HH: HHR2IHHI(2SHSD)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
Jl23| 67,630 71,020 23,390
Jle=3| 67,630 71,020 23,390
201 Let2d| 21,190 22,300 A1,110
01 AtE22(Hl 21,190 22,300 21,110
CIRSRCl g =l 8,590,000& 8,590
LI=x=g] 12,600,000& 12,600
202 O4Hl 41,040 43,320 A2,280
01 =Wl 41,040 43,320 AN2,280
m=23 - HF FRFA 2,280,000 18 41,040
203 HRF4Hl 4,200 4,200 0
04 PN2ILRFAHI 4,200 4,200 0
w2 A2 (3021015t) 350,000& «12& 4,200
204 XA 1,200 1,200 0
01 Mg PP AH| 1,200 1,200 0
mUE (=2 BXI|H) 100, 000& x1H +12& 1,200
Heas(23Hs1 500,000 800,000 A300,000
LHEHHXI = 500,000 800,000 300,000
HEHe XI& 500,000 800,000 300,000
02 JISEES 500,000 800,000 A 300,000
01 JI=sdE=s 500,000 800,000 300,000
m=stH=dEII3 300,000,000& 300,000
mX=ESLEIS 200,000, 000& 200,000
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